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Section I : Language (20 Questions, 40 Marks)

Passage 1

Without the creativity of one man, there
would-be no “happiest place on earth,” also
known as Disneyland. Walt Disney was a
creative genius who looked out on a huge
orange grove and imagined building a “magic
kingdom.”Disney was born in 1901 in
Chicago, Illinois. As a child, he enjoyed
drawing and even sold his pictures to
neighbors. When he was sixteen, he joined
the Red Cross and drove an ambulance in
France during World War One. After the war
ended, Disney started making short cartoons
in Kansas City, but soon ran out of money.
He decided to find his fortune in Hollywood.
He came to California with a suitcase and
$20 in his pocket.

It took a while, but Disney began to enjoy
success with his cartoons. He created
Mickey Mouse, the most famous cartoon
character ever. Then in 1937, Snow White
and the Seven Dwarfs premiered. It was
the first full-length animated movie, and a huge
success. Disney made many more movies that
we still watch today, including Pinocchio,
Dumbo, and Bambi.

It was in the 1940s that Walt Disney
first had his brainstorm about a fun park for
families. His idea grew bigger and bigger, and
he realized he needed a lot of space for his
park. He wanted it to have everything—a
mountain, rockets, spinning teacups, and a
fairy castle!

Years after Walt Disney first had the
idea, Disneyland opened in 1955 in a former
orange grove in Anaheim, California.
Admission cost a dollar. By its tenth
anniversary, 50-million visitors had come to
the Magic Kingdom. Disney died in 1966, a
few years before the opening of his next
dream project, Disney World. If you ever visit
one of the parks, go to a Disney movie, or
watch the Disney Channel, you can think of
the man with amazing ideas who started it all.

uestions

Q.1

Q.2

Q.3

Place these events in sequential order.
Label them with letters a- e show which
happened first, second, third, fourth, and

fifth DRO@
a) Disneyland opened in California.

b) Snow White and the Seven Dwarfs
premiered.

c¢) Disney moved to Hollywood, California.
d) Walt Disney worked as an ambulance
driver in France.

e) Walt Disney lived in Kansas City and made

short cartoons.

(1)d,c,e,b,a (2)c,d,e,b,a
(3)e,c,d,b,a (4)d,e,c,b,a

How is Disneyland described in the
passage? D@
(1) happiest place on earth

(2) magic kingdom

(3) a funpark for families

(4) all correct

When did Disney think about building a
0000

fun park for families in?




Q.7

Q.10

Q.11

Q.12

(1) 1901
(3) 1940’

(2)1937
(4) 1955

When a person tries to find a fortune, he
is trying t0 —------———-- . OO®@
(1) find out about his future

(2) unsure about his future.

(3) look for ways to earn an income

(4)to become rich instantly

If you were to describe Walt Disney,
which would be the most appropriate

adjective you could use? DOO0®
(1) clever (2) generous
(3)enterprising (4)fortune seeker

Which of the following word does not

indicate movement? 00O
(1) passing (2) peeping
(3) falling (4) running

The words seed, branches, bark, leaves,
flowers belong to the word register of -

—. llolo
(1) nature (2) forest
(3) trees (4) greenery

One of the following word is used a verb
as well as a noun. Whichisit?(MQ@ Q3@

(1) cold (2) coat

(3) clean (4) water

The most suitable antonym of ‘ordinary’
will be --------—-- DOB@
(1) specially (2) extraordinary
(3) common (4) huge

To tresspass on someone’s property is
illegal. The meaning of tresspass is -----

----- - DRO®
(1) cut trees (2) pass your time
(3) enter and move around

(4) plant trees

The teacher gave us a ----—-------- of sums
to solve. 0016

Fill in the blank using the correct collective
noun.
(1) book

(2) set
(3) group (4) bunch
My mother is not very happy ---—---- my

marks. Which preposition will you use to

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

complete the sentence? OO0®
(1) at (2) of
(3) with (4)in

We have been solving theis exercise
since morning. This sentence is in -—---——

---- tense 00O
(1) Present continuous (2) simple present
(3) Present perfect

(4) present perfect continuous

What kind of sentence is the given one ?
‘Aren’t these roses lovely?” DQ Q@
(1) interrogative (2) exclamatory

(3) statement (4) assertive

After a long walk in the forest we
returned home tired. The subject in this

sentence is --------- . DO20®
(1)we (2) long walk
(3) forest (4) home

What is the appropriate meaning of the
idiom ‘to move mountains’ is --------

(a) to shift mountains

(b) to take great efforts

(c) to go for atrek

(d) to search for something

A person who carries out excavations in
order to find out about ancient things is

called as -—----——-- 0016
(1) excavater (2) historian
(3) architect (4) archeologist

How many adjectives are hidden in the
given square? (you may look across and

down.) D@
A [N |C|I E N T
O |U|L |Z Y E A
R RIE|A] L A L

P NIAJ|Y X T L

S W ([N | B D H G
()6 (2)4

(3)8 45

------------- wicked fox chased ------------
young little chick.

The articles that you will use to complete the

sentence are ----------------- . DB
(1) The, the (2) The, a
(3)A,an (4) The, an




Q.20 A pair of scissors

Q.3

are used
1 2

to cut paper smoothly.

3 4
One ofparts contained an error. Which is it
()1 22 ORO®
3)3 4) 4

18T 1 - 19T (20 99T, 40 IJ0T)
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O]0OO0)
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1) ¥ )% D@

3) &R 4) Gy

qE AU AUE H0?  (DOR@
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3) AT 4) G

UET® Hiddl RI@SIUdsh ared et
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Q.4 TW R UER Tl 3R? D@

Q.5

Q.6

Q.7

Q.8

Q.9

‘TR’ = Iterten wIvTdr TS vee hal

i 3R? DOB@
1) @ 2)3®@

3) 9r 4) &

et s A 3MRA? DB
1) &H 2) FeH

3) & 4) s

WSS GaTE drel & e SNHid Uyt
I T
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g 9 faq e o sma?  DOBR@
1) = 2) MBS
3) foehime 4) g

forTem 3wl =t e 2 DOR®@
1) @ 21519 qof I 2Kl

2) Tl LR ST T&T Bl

3) 1 ST A 2.

4) T et Bl
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Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.1

Q.2

Q.2

Q.3

3) | 4) TsHIBE

wIoft fergreht a1 a@ T wE ?

1) e 2) WEDQOD

3) fos 4) 91

‘T’ q T FHGT B9 3.

1) Bier 2)FE OOR®@

3) e 4) Fievi

ydie viseidehl UmeeHl vrseren uaig

. DOR®

1) &R 2) gt

3) 4) &

TERIPTA feeseni-t ShIuTdl Scid G& hedl ?
DOB®®

1) gt 2) MepesteHl

3) T 4) TORICHE

forarsit werrSTen SW0 SRivtean feRwaTeR

e ? DOB®®

1) R 2) dren

3) hiemm 4) THTE

TSI ISR 3Y[E YIs] .
DOB®®

1) T 2) yeafon

3) 9 4) 3

Q.16 YZi® uAigiuegd ‘W’ veareal fassg

AT=N Yo e,
1) 7=
3) W&

DO0®
2) &
4) =

Q.17 Hd FMyeRi=a SfgUital =el i B ?

Q.18

Q.19

Q.20

DOB®®
1) SIS 2) s
3) SIfgoTeg 4) RIS
‘3 AMRA N AR HIvd fermmferg
TS BT ? DOBR@
1) Sz 2) TeIeyfeN™
3) quifeRm™ 4) Frefferm
S’ AT ITTATR WAHISHUH! SHIT FuT
3R ? DOB®®
1) 99 7 9 § 0 H8HH
2) R Toma @ wiEl 1=
3) @1 giie; fa9 Ul Fee
4) TR Feddl TS T,

e J SHUN 968 eEl. . (DRR@
1) Tl 2) TRa
3) Hferdt 4) g

Section II : Maths (30 Questions, 60 Marks)

91191 11 : 3IfS1d (30 U, 60 II01)

How many divisors does 18 have ?

0000
18 T HEAw fandt faareres atea ?
1)18 24 D@
3)6 4)2
Which of the following is divisible by 11 ?
0000
WU FhuTe HEEd 11 3 Ftw wm

STl ? 0000
1) 14679 2) 18504

3) 929093 4) 786247

Which of the following are twin prime

numbers ? 0016

Q.3

Q4

Q.4

Q.5

DOR®®
2)39, 41
4)29, 31

17,9
3)91, 93
Find value of (-2)° x (-3)> x (-1)"

DOB®
fehma 1@l (12)° x (-3)7 x (-1)"

1)72 2)-72 DO
3)8x9x 13 412

Find xifx = /92 + /64

1) 100 2) 10
3)110 4) None of these.

0[0O]6)




Q.5

Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

fR L x = 924 Jo4 DQA@

1) 100 2)10

3)110 4) =MEh T
Which of the following is LCM of 16 and
172 00O6)
16 3 17 = oA & 38?2 DQO@
1 2)4x 17

3) 2x8x17 4)8x17

The price of a pen is Rs.25 and that of a
pencil is paise 125. Find ratio of price of

a pen to the price of a pencil. QR @

Tert UATeR fehma 25 .31G Ueht Uf=achie

125 U8 oM. W Uea fehweiiel U

feRmetioft onTR e DOBR@

1)20:1 2)1:20

3H1:5 4)5:1

Write the number 64 in index form using

base 2 ? 0016

64 § TE Wi TEEUT aF U S

et fordicht g 2 0000

1) p% 2) 2°

3) 2 4) 2

Which of the following is a pair of supple-

mentary angles ? DOOB®

1) 45°, 145° 2) 45°, 45°

3) 45°, 135° 4) None of these.

WUkl JTeh ehiiel SISt ShIuT ?
0000

1) 45°, 145° 2) 45°, 45°

3) 45°, 135° 4) TR T

Find value of 3x* +2yif x =(-1) y=(+3)
0000

W x=(-1) F y=(+3) W 3x* +2y e

forma <Rt 0010

D9 2)3

3)8 4)2

Subtract (5a-2b) from (9a + 5b -3¢)
O]0OO0)

(9a + 5b -3¢) UL (5a - 2b) T .

00O]6)

1) - 4a -7b -3¢ 2) 4a+7b - 3¢
3) 14a+3b+3c(4)  4)da +7b.
Q12 Find X';if Z=6. DOR@
Q12 R §=6 W® 2 fohma w1 Q@
130 2) 900
3)11 4121

Q.13 Anil is older than Sanjay by 4 years. If
the sum of their ages is 28 years, how
old is Sanjay? 00O
1) 16 years 2) 24 years
3) 32 years 4) 12 years
Q.13 31 T Hauen 4 aui-i AT AT, e
T Al 28 T TR, T HeE 99 HE?
0OO[0)
1) 16 2) 24 =
3) 32 = 4) 12 =8
Q.14 Which of the following definitely not true
- 000

1) A circle has innumerable radii.

2) All chords are equal in length.

3) A circle has innumerable diameters.

4) Radius and chord can be of same length.

Q. 14 THGUE U faam e shier @ -

1) adeien S e s, DRB)@)
2) Gl Stiere Sish T ST,

3) Sijosledl ST S STEr.

4) e = Siten il Sisll FHA 37 Yok
Q.15 Find the measure of  VAB. DQ Q@
Q.15 ‘VAB’ I &M AU fhelt 38 ?

\Y% T
P Lo e § OO®@
B C\ R
/G \
1) 9¢° 2) 84°
3) 32° 4) 148°




Q.16
Q.16

Q.17

Q.17

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

What is 5% of 50. O20®@
50 = Ul <deh TRV TRt 2 DOR)Q)
1)25 2)5

3) 10 4)2.5

What will be the interest after five years
on Rs.1000 at the rate of 14 p.c.p.a.?

OO0
UTel iR Ueh §TR GUATeR <el Zeh Uit
Jiehel A W fehelt e firgdes 2

1)70 2)700 DOR@
3) 140 4) 1700

247 x 59+59 x 753 =2
1) 5900 2) 6100
3) 5700 4) 4900

One playground is 120 m long and 52 m
wide. A stage 10 m long and 7.5 m broad
has been erected on one side. Find the
area of the playground excluding the

00O]6)

stage. 0]0]O]0)

1) 6315 sqm 2) 6265 sqm

3) 6165 sqm 4) 6215 sqm

120 . Sis MU 52 W, FE @S

YesTea HEHTeAl TRl SNt 10 W.ai 9

7.5 .82 3161 Tk Hel IHRST 3. T Hel

g oo HTFT e whlal.
0]0]O]0)

1) 6315 = 4. 2) 6265 =10,

3) 6165 =n.4. 4) 6215 = H.

What is the volume of a brick whose
length and height is 20 cm and breadth is

1.5 deci m. DO

1) 6000 cubic cm 2) 300 cubic cm

3) 300 sq cm 4) 6000 sq cm.

20 9Tt Wisht 9 =i T A= wd

1.5 Syt R, T o= wewes fandt B ?
0000

1) 6000 =1. 90, 2) 300 = .3t

3) 300 =94, 4) 6000 = it

What percent of 80 is the number 24 ?
OO

24 @ W& 80 = feRet Tk 3R ?

0[0O]6)

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Q.25

Q.25

1
1)%%

3)3%

Which of the following is greater?
0000

THIcUh! WSt T HIUT 3R ?
0000

15 14
N4+ — 5+ —
)aT 2) 7

2)30 %
4)300 %

7

4
7-= 5+ L
3) 95+

5

Out of one hundred lemons which were
bought for Rs.40 half of the lemons were
sold for Re one each and remaining were
sold as Rs.10 for S lemons. find the profit

in the transaction. 00O
1) Rs.150 2)Rs.50

3) Rs.40 4)Rs.110

TG T [FhT Saedl Uk kel
foaitan fred foal, T S TR Ty
forercit. SOt fosel <1 Bu=TE = A A
faeet. a1 TR T fehdl ST ?

1) €150 2)250 DQB®
3) .40 4)®.110

18- e -8 hndm
51 34 en 34 A. mn ¢ num-

bers in place of o and A resprectively ?
63 42 51 o

0[0O]6)
)

W= Wy A.%ﬁﬁqaﬁﬁmﬁr
A IV e 3S? DRG@
1)42, 63 2) 63, 42
3) 63, 34 4) 63,51

There are 96 students in standard six. Out

9 rd
of which 16 are boys. ( 3j of girls are

selected for singing competition. fined the
number of girls selected for the competi-

tion. 0016
Fa Werdmed ugu 96 ferenedf amRa.




Q.26
Q.R%

Q.27

Q.27

Q.1.

Q.3.

aﬁaﬁ% AR G5l 3TRd. Uk st
ot muaren ATt Fagvara sten
IRA. W MuaTe wEaE fed qet

Fasvam e ? DOB@
1) 14 2)42
3) 18 4) 54

Evaluate : (-1)x (-2) x (-3) x (-4) x (-5) x (-6)
TerTa Tt (-1) x (2) x (-3) x (-4) x (-5) x (-6)

1) -720 2)21 DOB@
3)-21 4) 720

A man gets a house allowance of 15% on
his salary. If the house allowance is

Rs.1200. Find his salary. DQQ® @
1) Rs.8000 2) Rs.18,000
3) Rs.5000 4) Rs.12,000

Teh! HIUTETST ceal WIS 15% TR
T, SR T 6.1200 SR fHiesd 38
W @ TR 6 oS 2 D@

Q.28

Q.28

Q.29

Q.29

Q.30

1) %.8000
3) %.5000

2) %.18,000
4)%.13,000

The sum of three consecutive odd natu-
ral numbers is 39. find the numbers.

DOB®®
W srERTa forem TeaiEl S 39 3R, W

Section III : Science (30 Questions, 60 Marks)

91181 111 : farsirer (30 w94, 60 3got)

100 . . ST WG USUM=A USTere

o feRdt? DOB@
1) 3= 2) 100 3
3) 100 . 7. 4) T T

A huge stone of mass 100 kg is falling
freely. What will be its weight?

0OO]6)
1) zero 2)100 xg
3) 100 kg 4) None of these
————————— AWETE? D@
1) s 2) @0
3) 3=t 4) 5[
Which of the following cannot be called
as matter? DOOB®
1) Gases 2) solution
3)Energy 4) weight
QAR TR T DOO@
1) W= 2) TFAFER

Q.3.

Q.4.

Q.4.

Q.5.

T GEAT 0T ? DOBR@

1) 10, 14, 15 2)11, 13,15

3)9,13,17 4)5,13,19

Which of the following equals 3x2.
010O]6)

WSS U TI 342 B US T9reral?
0l0©]6)

1) 3+%? 2) 3xx3x

3) 3xxxx 4) 3+ x+x

(2.3 =2 0]0]O]0)

1)1216.7 2)1.2167

3)121.67 4)12.167

3) wWaea 4) 2 9 3 SRR

What kind of motion does the earth have?

1) Rectilinear motion 0016

2) Uniform circular motion

3) Uniformrotational motion

4)Both 1 &2

L L 3R ? 010010

1) 71 )%

3) fagmn 4) = TE

Airis a? DO20®

1) Compound 2) molecule

3) mixture 4) none ofthe above

R et g---------- TR S5

a2 olelolo

1) s 2) ¥, W

3) fas 4) = TE

Melting of ice is a -~—-—-----—--- .




Q.6.

Q.6.

Q.7.

Q.8.

Q.8.

Q.9.

Q.9.

Q. 10.

Q. 10.

1) exothermic change 0016
2) endothermic change

3) chemical change

4) None of these

————————— I IR? DD
1) orEe 2) @\

3) ARA 4) e

Which of the following is non-metal

1) Iron 2)GoldDQR®@
3) Boron 4) carbon

UG- - e TR DR
1) @ 2) SaHeS

3) et 4) TaReRit

Petrol is ----------—-, 00O
1) ductile 2) volatile

3) elastic 4) opaque
———————————— 71 MU INNI® data
ST AT 3TR? DOB®
1)@ 2) 7S

3) < 4) g

Hardest substance in our body is

1) Nail 2) BoneQ@QR@
3) Enamel 4) cartilage
FBUAS AATH FTHATH ————————-
TehTedl HigHe 8. DOR®
1) e 2) BT

3) s 4) Tel TR

The muscles involved in the movement
of food in the stomachare (QDQ@QQ®@
1) involuntary 2) cardiac

3) voluntary 4) all the above
forgn UtesTAinE Tl S UG- - - -
———————— AR ? ool
1) Tk et 2) &

3) =Wk 9 A 4) T A0
Life use to reduce the ef-
fort 0000
1) single pulley 2) screw

3) Wheel & Axle

4) asystem of pulleys

Q. 11.

Q. 11.

Q. 12.

Q. 12.

Q.13.

Q.13.

Q. 14.

Q. 14.

Q. 15.

Q. 15.

Q.16.

SE Bl O]0OO0)
1) s 2) STHTAA
3) Bl 4) 29 3 R

Which of the following changes when we

heat a gas? 00O
1) mass 2) volume

3) Density 4) both ii & iii

fRsToTR gk 3 TS et TR Ut
R gEdamEE? D@
1) Je 2) TR

3) HeseH 4) I FRAIRTH
Which is used to separate heavy and light
particles from mixture ? 0016
1) Magnetic separation

2) Gravity separation

3) Sublimation

4) froth flotation

aRten foreem foig----------- 3R?

0000

1) 100°% 2) 102°%

3) 0% 4) 4%

The melting point oficeis? MDQB@
1) 100°C 2) 102°C

3) 0°C 4) 4°C

TS SIS SuaTedl AT SUSTd
———————————— TRUTATd ? 096
1) TR 2) SofsTE

3) I I 4) fcepaTe

The study of plants is 0016
1) Chemistry 2) Zoology

3) Botany 4) Physics.
Pungent is used to describe? DR @
1) taste 2) colour

3) odour 4) shape

TS 3T B AU HIT ST et
. D@
1)=a 2) @

3) Ty 4) 3R

Gun powder is an example of a/an




Q.16.

Q.17.

Q.17.

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

0OO]6)
1) element 2) mixture
3) compound 4) none of these
FEH T8 § ——-——-- = 3ETET 3R,
1) HowsA 2) BEORO@
3) T 4) Titrht .
Root that grows from the radical is
called? 0016
1) proproot 2) fibrous root
3) adventitiousroot  4)tap root
—————— 2 o5 SIUTET A .

. 000®

1) 4 e 2) T
3) U 4) dieHes
The Screw can be compared with?

0OO]6)
1) Apulley 2) awedge
3)aninclined plane  4) both (1) & (3)

1) i 2) T

3) =3

4) 19 2 32 SR

The motion of sea waves is ?(DQ Q@

1) rectilinear 2) curvilinear

3) oscillatory 4)both(1) & (3)

[AYSTEAT GIET AT - - -~ R Tt

Toiferama. DOB@

1) T 2) TR

3) QA 4) 19 3 SRR

A sudden drop in the level of mercury of

a barometer indicates? DO

1) rain 2) high temperature

3) storm 4) low temperature

FATGTSHIUII UT=aTell UTdes! Uehad hul

B0 § T guifed? DOB@

1) w8 2) 3 AEE

3) 9k 4) FH AIHE

In chlorination of water ----—----- is used?
0OO]6)

1) washing soda 2) bleaching powder

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Q.25

Q.25

Q.26

Q.26

3) baking powder 4) lime

OIS FAIIHIhTOTHES - ———- = 9w

e . DOB@

1) goarn Grel 2) foasfemt urerex

3) @ Hiel 4) T

The combination of sugar & water is ?

1) heterogeneous mix OOB®

2) homogenous mixture

3) element 4) compound

URER & uroft e fasmon 3 ---- S
0006

1) |9 fasm 2) kst fago

3) A5 4) 9

Sea water contain —% of common salt

1)2.5% 2)3.5%D23@

3) 50% 4) 10%

YT UT0Td -~ % HiG 3.

1)2.5% 2)3.5%D23@

3) 50% 4) 10%

sound is produced by vibration of

cartilages these are present in(D2Q 3@

1) pharynx 2) larynx

3) trachea 4) bronchi

---- T ! fafSTS TR WgYR

i Fmtor 2. DOR@

1) =& 2) T

3) AR 4) IR

Alphanso is variety of- 0016

1) Mango 2) Grape

3) Musa 4) Emblica

TR - = 5 o DQO@

1) i 2) 14

3) ®IH 4) 319

The hottest planet of solar system is:

1) Mercury 2)VenusMRQR @

3) Mars 4) Jupiter

————— B HRHIe Hald 3501 T8 3.
OI0]O]6)

1) 94 2) fegg

3) W 4) &




Q.27

Q.27

Q.28

Q.28

Q.29.

Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

What is the Unit & weight? D2 Q@

.- 92w g . DQR@

1) kg 2)gm 1) e BF SHaERe  2) St
3) kg wt 4)None 3) ARIRH 4) roft
—————— B a9 Uchch M. DO2B®®@ | Q.30. Which of the following are parts of leaf?
1) Tt 2) fosex DOB®
3) forel de 4) TR T i) Lamina ii) plumule
The density of water is 0016 i) .Stip'l'ﬂe iv)firac.t
1)2 gm/ce 2) 1 gm/ce l)i&iionly 2) iii & iv only
3) 4gmlcc 4) Sgm/ce 3)ii & iv only 4) i & iii only
TR ST - - TH /T IR, Q.30. WHHUR —----- T U 91T 3T,
1)2 )1 DOB® D™ D)FE (i)W V)T D@
3)4 4)5 1) 1) dii) 2) i) F iv)
Lime water turns milky due to? ) WEW) B )
0OO]6)
1) Carbon dioxide 2) Oxygen
3) Nitrogen 4) Water
Section IV : Intelligence Test (20 Questions, 40 Marks)
181 1V : geferTar aravit (20 193, 40 3[1)

Which of the following is not a medicinal
plant ? 0OO]6) 0OO]6)
(1)Penicillin (2)Shisam (1) sda (2) BIRvR
(3)Hirda (4)Behda (3) et (4) 3BTl
WA AR SHIUTAT 0 STl e TS | Q.4 I crow s called duck,Sparrow is the
FE AR ? 0016 called peacock, piegon is called mynah.
(1) I RC () e Eagle is called ostrich.Then what will you
(3) e (4) g call the bird, flying high in the air?
In Which area coffee is grown ? (1) Eagle ) Ostri(c%@@@

o 0000 (3) Peacock (4) Duck
(1) Nilgiri Hills (2) MT-Everest
(3) Himalaya (4) Kokan Q4 TR HTEBATH dgeh T, fomuiiat aR
s @@@’@ TEER, W T 9N SR 39 IS
(1) Fit e (2) R TR ?mm e 2 ) DOO®
(3) e (4) T (3) R (4) T
If July is to rain then January is to what? .

DRR@ Q.5  Find odd figure. DO20®

(1)Spring (2)Autumn Q5 fordiie ug siiewn D@
(3)Winter (4)Summer
T IO TS IS TR AT FTT? (1) | (DA




Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

Q.9

o)

o)
NV

Find the number of Arrows which are fac-
ing the rising the Sun. DO20®

faoremm sTmehdicites feRet amoT SwTarean gatea
fevien die s 3. DORD
N

(1)6 (2)2
(3)3 4)4

Suresh is 10th from front of the line and
22nd from the end of the same line,find
the number of Student in the same line.

(1)32 (2)33 O0O0®
(3)30 (4)31
91 WA GRERUEA SEIedl SHHIhTER
3R, T AR 22591 shuliehleR 37R.a ol
T foret 7o 31 2 D@
(1)32 (2)33
(3)30 (4)31

If we arrange the following animals ac-
cording to their size,who would be in the

middle ? DOB@
Dog,Mouse,Lion,Cat,Cockroach.

(1)Dog (2)Cat

(3)Lion (4)Mouse
TR TOT e STRRAHITER B
T SHIUTAT TUT AL IS ?

o IR, e i . 0000
(1) 3= (2) ISR

(3) fere (4) R

If Shobha wants to read 21 pages on ev-
eryday except Sunday and 35 pages
Sundays,then if she starts reading on
Thursday,by next Thursday,she would
have read how many pages? Q3@
(1)168 (2)184

(3)192 (4)182

BIATATEAT UcAh feasit wsn et
TR 21 U STed, e daard &t 35

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

Q.15

U g iR SR TEaRl g arenet
e, T Yesd oAt fd fehdt U arem

Hufarit . DOR®

(1168 (2)184

(3)192 (4)182

If 24 is to 60 than 34 is to what ?
0l0©]6)

SR24B60 R 341 ™? D@D

(1)85 (2)80

(3)90 4)75

Which of the following is not river ?
0l0O]6)

(1)Vashisthi (2)Shastri

(3)Lonar (4)Bhima

WU R T T 2 DRR@

(1) afeTst (2) S

(3) BUR (4) fomm

Which of the following place will have

Humid climate? DOOB®
(1)Ratnagiri (2)Pune
(3)Radhanagari (4)Sangali

SR e THE FAHM 3 2
(1T QT D@
(3T (4)EiTe

Sant Dyaneshwar is to alandi, then Sant
Eknath is to what ? DOB®@
(1) Apegaon (2) Dehu

(3) Paithan (4) Jamb

wa? 0000
(13T )%

(3t (4)sita

Find the odd term. DO
(1)Rectangle (2)Angle
(3)Triangle (4)Circle

forsite vter siiesEn D@
()| ()&

(3)Frhm (4)as
365457626549722246757

In the above series,how many
times,same digit appears on both the side

of a digit? D@




Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

(1) 3 times (2) 2 times

(3) 4 times (4)None
365457626549722246757
i TeamIcsehe fohdl dest Ueht SiehTean
T AW ThE 30 R ? D@
(1) T et (2) 3F Jeal

(3) RS (4) TR TR

Where do you find cactus? QDQQR@
(1) Coastal area (2) Desert area

(3) Hilly area (4) Plains
gt @S awdE DQO@
(1) =i (2)dezsiaTd
(3)geicRiTT (4)HIEIR

Which of the following is not India’s
Neighbour ? DOOB®
(1)Pakistan (2)Bangladesh
(3)Nepal (4)Dubai

SHIUTAT 391 TRATN I T2 (DB @)
(1) feree™ (2) TSR

(3) 9z (4) TR

Form a meaningful word from the given
letters,and state which letters would be

second ? 00O©]6)
e,1,0,w,f1

(H1 2)w

3)f (4r

f1,9,9, 9,9 Rt 31eR Seaa U teigui
168 TER . T ITEETS TR HER IV
3E 2 D@
(O )4

(3) 4d

How many composite numbers are there

from 1 to 100 ? DOBR@
(1)75 (2) 25
(3) 74 (4)76
Teh 4 ViR WA UK feohelt Wga TEAm
3ea? D@
(1)75 (2) 25
(3) 74 (4)76

In which plant seed disparsal is with the

help of water? DOOB®
(1) Rose (2) Fig
(3) Gulmohar (4) Lotus

Q.20 THIUTCAT HTSTEN YehR SISTHER UTOHTHI
0]0]O]0)

Section 1 :

Bre?

(DT

(3)TTPHER

Answers / 3R : -

(2)3™IR
(4)FT

1.

2)

4)

3)

3)

3)

6.

2)

3)

4)

2)

10.

3)

11.

2)

12.

3)

13.

4)

14.

1)

15.

1)

16.

2)

17.

4)

18.

4)

19.

2)

20.

2)

qal:

1.

2)

1y

3)

Y

3)

6.

2)

2)

2)

Y

10.

3)

11.

4)

12.

2)

13.

4)

14.

Y

15.

2)

16.

3)

17.

4)

18.

Y

19.

2)

20.

2)

Secti

on Il /¥ Il:

1.

3)

2.

4)

3.

4)

1)

2)

6.

3)

7.

1)

8.

2)

3)

10.

1)

11.

2)

12.

2)

13.

4)

14.

2)

15.

2)

16.

4)

17.

2)

18.

1)

19.

3)

20.

1)

21.

2)

22.

2)

23.

4)

24.

2)

25.

1)

26.

4)

27.

1)

28.

2)

29.

3)

30.

4)

Section III / 91T 11

1:

1.

D

2.

3)

3.

4

3)

4

6.

4

7.

2)

8.

3)

D

10.

4

11.

4

12.

2)

13.

3)

14.

3)

15.

3)

16.

2)

17.

4

18.

3)

19.

4

20.

3)

21.

2)

22.

2)

23.

D

24.

2)

25.

D

26.

2)

27.

3)

28.

2)

29.

D

30.

4
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1.

2)

2.

1)

3)

2)

3)

6.

3)

7.

4)

2)

4)

10.

1)

11.

3)

12.

1)

13.

3)

14.

4)

15.

3)

16.

2)

17.

4)

18.

1y

19.

3)

20.

4)




